REBNFOEUE bigBOO9-(1)

HOBRRETN—IDBERESL—ZVT

1 34+2= 1144 3=

2. 945= sl 4+ 4 =

3 9+4= 9| 54+ 3=

413+ 1= 100 54+6=

5 2+ 8= 1 {4 3=

6] /+8= 121949 =
RET: Qe



REBNFOEUE bigBOO9-(2)

1184+9= 1154 1=

2 9+ 2= 3 944 =

394 3= 9] 24+ 3=

14+ 1= 100 342 =

5 9+ 3= 111948 =

6/ 94+ 1= 121 349 =
RET; Qzn

MOBRRETN—IDBERESL—ZVT



REBNFOEUE bigBOO9-(3)

MOBRREDN—IDBERESL—ZVT

11942= 116+ 5=

2 2+ 4= 8194 [ =

3144 1= 9|14 1=

4124+ 6= 10 /3=

5 8+ 8= 16+ 6=

6] 3+9= 12 {4 { =
RET: Qe



AERXXNFOEULUE 2)|=> 11849= 17 [7/154+1= 6
PigBOOY 2 54+2=7 [(89+4= 13

[ R ] 3194+3= 12 [91124+3= 5

= d1+1=2 [1W0W3+2=5
1 5 5/ 9+3=8 [1194+8= 17
I “ 6/9+1= 10 [23+9= 12
1134+2= 5 11443= 17 1154+2=17 116+5= 11

294+5= 14 [344+4= 8 224+4=06 8/ 24+7=9

31 9+4=9 9/5+3= 8 3 44+7=11 [D/14+1= 2
£ 3+7=10 [d5+6= 11| 424+6=8 [0 74+3= 10
5/]2+8= 10 1 74+3= 10| 518+8= 16 [116+6= 12
6/ /+8= 15 [1294+9= 18 | 613+9=12 [127/+7= 14
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